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Question Number : 1 Question Id : 953357527449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

terteiererieiereeeen.... represents a specific time when children are particularly susceptible to certain kinds of stimuli in their environment.
Options :

1. Sensitive periods
2. Explicit periods

3. Plasticity duration
4. Mental stagnation

Question Number : 1 Question Id : 953357527449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357527450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Comparisons among children can very accurately assess a child’s developmental progress

Reason (R) : The pattern and sequence of development as well as the rates of development are the same, for all children universally

Choose the correct option.

Options :

1. Both ( A) and (R ) are true and ( R ) is the correct explanation of ( A).

2. Both (A) and (R ) are true but ( R ) is not the correct explanation of ( A).
3. (A) is true but ( R) is false.

4. Both (A ) and ( R) are false.

Question Number : 2 Question Id : 953357527450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357527451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Secondary socialisation maps the period in when the child begins to attend formal institutions such as the school.
Options :

1. infancy

2. early childhood

3. middle childhood

4. adolescence

Question Number : 3 Question Id : 953357527451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357527452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which stage can children work with hypothetical statements and explore logical relationships between statements and have the ability to
cope with abstractions such as proportions?

Options :

1. Sensori-motor Stage

2. Pre-operational Stage

3. Concrete Operational Stage
4. Formal Operational Stage

Question Number : 4 Question Id : 953357527452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357527453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a critique of Jean Piaget’s theory of cognitive development?

Options :

1. Development of children is dependent on their socio-cultural context.

2. Children are active beings.

3. Children’s thinking is qualitatively different from that of adults.

4. Development of children takes place by their acting upon the environment.

Question Number : 5 Question Id : 953357527453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357527454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jean Piaget and Lev Vygotksy have shifted the understanding of learningasa ...............cccc.oeevnenn. Process t0 @ ..vovvnvenineraniinanennns
process.

Options :

1. active, passive

2. passive, active

3. mechanical, behavioristic
4. behavioristic, mechanical

Question Number : 6 Question Id : 953357527454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357527455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, the basis of learning is —

Options :

1. Social interaction

2. Reinforcement

3. Drill and practice

4. Changes in the structures of schemas.

Question Number : 7 Question Id : 953357527455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357527456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of Lawrence Kohlberg’s moral development theory do individuals believe that society needs to update the rules over time?
Options :

1. Obedience and Punishment Orientation

2. Good boy-good girl orientation

3. Social-order maintaining orientation

4. Social —contract orientation

Question Number : 8 Question Id : 953357527456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357527457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of the type of intelligence and the end state possibilities as per theory of Howard
Gardner?

Options :

1. Intelligence: Logico-mathematical; End State Possibility: Account
2. Intelligence: Spatial; End State Possibility: Athlete

3. Intelligence: Linguistic; End State Possibility: Navigator

4. Intelligence: Inter-personal; End State Possibility: Dancer

Question Number : 9 Question Id : 953357527457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357527458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a child-centered education, the teacher —

Options :

1. gives direction while the learners follow blindly

2. understands the child and the process of learning in a socio-constructivist manner

3. sets a rigid and standard curriculum

4. uses assessment to rank the students

Question Number : 10 Question Id : 953357527458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357527459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to National Education Policy 2020, the progress card of the students communicated to the parents would be-

Options :

1. based on norm-referenced testing

2. based on criteria reference testing

3. areflection of relative performance of students in comparison to classmates

4. a reflection of the progress as well as the uniqueness of the student

Question Number : 11 Question Id : 953357527459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357527460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure retention of students from socio-economically disadvantaged groups, National Education Policy 2020 proposes the curriculum
and pedagogy should be

Options :

1. centered around exams

2. centered around textbooks
3. engaging and contextual
4. standard and uniform

Question Number : 12 Question Id : 953357527460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357527461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sex is while gender is
Options :

1. biological, socially constructed
2. socially constructed; biological
3. cultural; social
4. social; cultural

Question Number : 13 Question Id : 953357527461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357527462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following tools should be used by the teachers to assess children?

(i) Work in groups
(i1) Classroom participation
(iii) Portfolios

(iv) Presentations
Options :

1. (iii), (iv)

2. (i), (iii), (iv)

3. (), (iii), (iv)

4. (1), (i1), (ii1), (iv)

Question Number : 14 Question Id : 953357527462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357527463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about language and cognitive development is correct?

Options :

1. Language plays an important role in cognitive development.

2. Language does not play an important role in cognitive development.

3. Language hinder the process of cognitive development.

4. Language and cognitive development are independent processes.

Question Number : 15 Question Id : 953357527463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357527464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following has been promoted by Right of persons with disabilities Act (2016)?

Options :

1. Compulsory special education for persons with disabilities.

2. Discrimination in assessing entitlements based on disabilities.

3. Denial of Right to Education for persons with disabilities.

4. Equality and non-discrimination in all spheres of life.

Question Number : 16 Question Id : 953357527464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357527465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inclusive education helps in meeting the needs of:

Options :

1. each and every student

2. students from religious minorities only

3. students with disabilities only

4. students with giftedness only

Question Number : 17 Question Id : 953357527465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357527466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is primarily associate with difficulty in:

Options :

1. reading the text

2. performing mathematical calculations

3. critical thinking

4. communications skills

Question Number : 18 Question Id : 953357527466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357527467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following practice will hinder the successful inclusion of students with speech the language disorders?

Options :

1. Break tasks and assignments to short, easy-to-manage steps.

2. Discourage the use of visuals to support expressive language skills.

3. Use of pre-planning strategies for oral and written tasks.

4. Reduce auditory and visual distractions in the classroom.

Question Number : 19 Question Id : 953357527467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357527468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to cater to the needs of students with giftedness, a teacher should avoid:

Options :

1. allowing students to pursue independent projects.

2. considering flexibility for curriculum acceleration.

3. implementing a uni-dimensional curriculum.

4. providing stimulating enrichment activities.

Question Number : 20 Question Id : 953357527468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357527469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Before starting teaching of a new concept, a teacher should review prerequisite knowledge. This will help students bring to
mind the information they will need to understand new concept.

Reason(R) : Corporal punishment should not be practiced as a strategy to rectify the undesirable behavior of learners.

Choose the correct option.

Options :

1. Both ( A) and (R ) are true and ( R ) is the correct explanation of ( A).

2. Both (A) and (R ) are true but ( R ) is not the correct explanation of ( A).
3. (A) is true but ( R) is false.

4. Both (A ) and ( R) are false.

Question Number : 21 Question Id : 953357527469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357527470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Any pedagogy which considers subject-matter as an end in itself is likely to yield among students.

Options :

1. appreciation for mastery
2. desire for innovation

3. motivation to learn

4. resistance to explore

Question Number : 22 Question Id : 953357527470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357527471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion(A) : Students should be taught self-regulatory knowledge about when, where and why to use variations learning strategies.

Reason (R) : A learning strategy is more likely to be maintained and employed if students know when, where and why to use it.
Options :

1. Both ( A) and (R ) are true and ( R ) is the correct explanation of ( A).

2. Both (A) and (R ) are true but ( R ) is not the correct explanation of ( A).

3. (A) is true but ( R) is false.

4. Both (A ) and ( R) are false.

Question Number : 23 Question Id : 953357527471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357527472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a meta-cognitive skills?

Options :

1. Evaluating process used by oneself in solving a problem.

2. Identifying the difference between two pictures.

3. Knowing the chemical formula of Methane.

4. Recalling the chronological order of a particular dynasty.

Question Number : 24 Question Id : 953357527472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357527473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher intends to facilitate procedural knowledge among her students. Which of the following question is appropriate for this purpose?
Options :

1. How to solve an oxidation-reduction equation?

2. What are the components and structure of DNA?

3. Which planet is closest to the sun?

4. Who wrote Indian National Anthem?

Question Number : 25 Question Id : 953357527473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357527474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To make learning meaningful for students, a teacher should:

Options :

1. emphasize on rote-memorization of text-book content.

2. employ stimulus-response association to condition behavior.

3. frequently use tangible rewards to motivate students.

4. provide opportunities to think and reflect on experiences.

Question Number : 26 Question Id : 953357527474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357527475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher asked a student to speak his thoughts to himself when he was somewhat stuck in solving a given problem. Soon enough after
doing so, students exclaims ‘I know the answer now!!” Which problem-solving strategy has helped the student in this case?

Options :

1. Functional fixedness
2. Mnemonics

3. Response set

4. Verbalization

Question Number : 27 Question Id : 953357527475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357527476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT correct in context of misconceptions formed by students?

Options :

1. Misconceptions can be used constructively by a teacher in the process of learning.

2. Misconceptions characterizes the initial phase of children’s understanding of certain concepts.

3. Misconceptions clearly indicates children’s inability to learn anything new and advanced.

4. Misconceptions represents children’s intuitions about the processes they observe around them.

Question Number : 28 Question Id : 953357527476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357527477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following emotion positively impact learning?

Options :

1. Anxiety

2. Boredom

3. Fear

4. Hope

Question Number : 29 Question Id : 953357527477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357527478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following set of attributions for failure on a task is likely to motivate a student for future attempts?

Options :

1. I am not intelligent and intelligence is fixed.

2. I didn’t put enough effort this time although I am capable of doing so.

3. Teacher was biased towards me and I can’t change her perception about me.

4. This particular exam falls on Tuesday and Tuesday is my unlucky day.

Question Number : 30 Question Id : 953357527478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357527479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 953357527479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 953357527480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ifx = _?2 and y = —Ta. then (x —y) 1+ (x 1 —y ) lisequal to

Options :

Question Number : 32 Question Id : 953357527480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

—2 =4 - 3
a‘%x:? Wy="r A (r—y) 1+ (x -y 1)! wWERE:
Options :

1. —8
) —2
3. 12
7
4.6

Question Number : 33 Question Id : 953357527481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ifa=360and b =900, then (LCM ofa and b )+ (HCF of a and b ) is equal to



Options :

ta | a

N
L

W
[y
h

4. 10

Question Number : 33 Question Id : 953357527481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
it . = .
IfE a = 360 27 b = 900 &, T (a 38 b FT LCM) + (a 37 b FT HCF) T@R 2
Options :
5

1. 2

N
h

Question Number : 34 Question Id : 953357527482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If a 6-digit number 43x82y is divisible by 72, then what is the value of (2x — y)?
Options :
1. 8

Question Number : 34 Question Id : 953357527482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE 6 7T AT TF AT 43182y, 72 W ST B, A (2% — y) FIARFTE?

Options :
1. 8

2. 10

4. 14



Question Number : 35 Question Id : 953357527483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
SR B
2 iz equal to
GrFxEr?

Options :
1. 9

7 12

Question Number : 35 Question Id : 953357527483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

—3 2 0l

O x@a2
> E 4 -3 e T
(212 ()

Options :
1.9

2. 12

Question Number : 36 Question Id : 953357527484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the factors of 25(x + y)? — 36(x— 2y)? is
Options :

1 7x+ 11y

5 17y —x

3 1lx+7y

4 1lx—y

Question Number : 36 Question Id : 953357527484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
2 2 3 =T o T =2 .
25(x + ¥)% — 36(x — 2y)* F UGS H H UF TGS ¥ ;
Options :

1 7x+11y



, 17y —x

3 11x +7y

4 1lx—y

Question Number : 37 Question Id : 953357527485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

(2% —4)(x—1)(x+1)
(2 —3x+2)(x+2)

Options :

is equal to

1. x—1

2. x+2

Question Number : 37 Question Id : 953357527485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
x%—4)(x—

(Z-4)e-DE+)
(x2=3x+2)(x+2)

Options :

. x—1

2. x+2
3. x+1
4. X —2

Question Number : 38 Question Id : 953357527486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ifsx—6 (x + i) = g (x + 1). then what is the value of (5x + 6)?
Options :
1.3

2. 4

w
L

Question Number : 38 Question Id : 953357527486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



1 . N
e Sy — 6 (x+£) =3 (x+ 1)2, 91 (5x + 6) FIHAFHTE?

Options :
1.3

Question Number : 39 Question Id : 953357527487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the constant term in the following product?

(2x2=3x-2) x (2 -x)

Options :
1. —9

5 —12
3 12
4. 16

Question Number : 39 Question Id : 953357527487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T o & TR T 2

et -2 )

Options :
1. —9

5 —12
3 12

4. 16

Question Number : 40 Question Id : 953357527488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After giving a discount of 15% on the marked price of an article, a shopkeeper still gains 19%. By what percent is the
marked price above the cost price?

Options :
1. 30%



3. 38%

4 40%

Question Number : 40 Question Id : 953357527488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foreft oy =1 3 <o 9o W 15% T 92 T A T U TR T T 19% AT W Fa 8] 3w 7
ST A T 39 e § T T a1t 27

Options :

| 30%

3. 38%
4. 400:"6

Question Number : 41 Question Id : 953357527489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If F. V and E represent the number of faces, number of vertices and the number of edges, respectively of a pyramid
whose base is a pentagon, then what is the value of (2V— 3F+E) ?

Options :
1.3

2. 4

w
h

Question Number : 41 Question Id : 953357527489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
%

AT F, V 37 E Toreft terst 11w aet e fumfire o wereh, i o7t ot w1 weanett % waia @ &, i
(2V— 3F+E) FTHF FT

Options :
1.3

Question Number : 42 Question Id : 953357527490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The length of the diagonals of a rthombus are 24cm and 70cm. What is the length of a side of the rhombus?
Options :

1. 28 cm

[\S}
(#%)
N
=
=

4. 47 cm

Question Number : 42 Question Id : 953357527490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toreft Tt 3 Tt o =FaTsa 24 om TUT 70 em B 39 FHATS S i waTS 47 22

Options :
1. 28 cm

5 35cm
3 37 cm
4. 47 cm

Question Number : 43 Question Id : 953357527491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The interior angle of a regular polygon exceeds its exterior angle by 108 °. The number of sides of the polygon is
Options :
1. 8

2.9
3 10
4. 12

Question Number : 43 Question Id : 953357527491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toref! &7 TS 1 AT 0T 36 AR FH 108° ST 2| IW TH AL 1 qAAT H A 2

Options :
1. 8

2.9
3 10

4. 12



Question Number : 44 Question Id : 953357527492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In A ABC and ADEEF, if

AB = DE, AC = EF and BC = DF,
then which of the following is correct?
Options :
1. AABC = AEFD

, AABC = ADEF
;. AABC = AEDF
4. AABC = AFDE

Question Number : 44 Question Id : 953357527492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

s ABC 37 ADEF ¥, 712 AB = DE, AC = EF 41 BC = DF 2, @ 77 5 & =91 71 22

Options :
L. AABC = AEFD

, AABC = ADEF
;. AABC 2 AEDF
4 AABC = AFDE

Question Number : 45 Question Id : 953357527493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In AABC, the bisectors of £B and £C meet at a point P. If ZBPC = 102°, then what is the measure of ZA?
Options :
1 22°

), 24°
3, 28°
4. 32°

Question Number : 45 Question Id : 953357527493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AABC ¥, £B ¥ £C % S{ZTee 0% {5 P 0 e &1 37 £BPC = 102° 3, @1 LA FT A0 2

Options :
1, 22"

. 24°



3. 48"

4 32°

Question Number : 46 Question Id : 953357527494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of mean. median and mode of the data:
11, 14,9, 30,35,17, 19, 28, 23, 48, 36, 30 is

Options :
1. 80.5

5 78.5

3. 76

Question Number : 46 Question Id : 953357527494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
7= <131 o =TT, T SR AR W A 8
11, 14,9, 30, 35, 17, 19, 28, 23, 48, 36, 30
Options :
L 80.5

, 785
5 76

4. 75

Question Number : 47 Question Id : 953357527495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A box certains cards on which numbers 31, 32, 33,.... ,69 and 70 are written (only one number on one card). A card is
drawn from the box without looking into the box. What is the probability that the number on the card drawn is NOT a
prime number?
Options :

9

1. 40

19

ul |



Question Number : 47 Question Id : 953357527495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE A H TS T g T, o wEEE 31, 32, 33, ..., 69 37K 70 FE 5% ¥ (U FIE W FAA U 6E)| T+
37 for 3 v e R S 2
TET TTTeRaT 347 2 T Temmet 70 2 W Toredt S v orvTsT T 1w 2
Options :
9

1. 40

14

2. 20
1
5

31

4. 40

Question Number : 48 Question Id : 953357527496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A wire is in the shape of a circle of area 154 em?. If it is bent in the form of a square. then what is the area of the
square?

(Take m = % )
Options :
1. 144 cm?

7. 169 cm?
3. 100 cm?

4. 121 cm?

Question Number : 48 Question Id : 953357527496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U A I I AT F w0 H 2, T S%e 154 om” 21 39 TR F1 UF I K F9 F TS 4T 7| T A ST

" 22
AT ETm (T = = =)
Options :
L 144 cm?

5 169 cm?

3. 100 cm?



4 121 cm?

Question Number : 49 Question Id : 953357527497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The length. breadth and height of a cuboidal box are in the ratio 6 : 4 : 3 and its volume is 4608 cm’. Its lateral surface

s
)

area (in cm®) is

Options :
1. 1152
7. 1246

3 1104

4. 960

Question Number : 49 Question Id : 953357527497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Torwt =TT R oY AT, =TS ST S 6 2 4 0 3 3 STUI H # A1 §HHT I 4608 om® 2| T U
TE & (cm” W) ®

Options :
L 1152

5 1246
5 1104

4 960

Question Number : 50 Question Id : 953357527498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The volume of a right circular cylinder is 396 em?® and its height is I4cm.What is its curved surface area (in cm?)? (Take

22,
==
=

Options :
1. 242

7. 264

Question Number : 50 Question Id : 953357527498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T TS IR SO 1 AT 396 oo &, S TR S8 14 om B

= = i Fom 22 [}
3T T T5F UEIT SE (o W) TR (T = = =fifem)
Options :

1. 242

, 264

Question Number : 51 Question Id : 953357527499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following teaching learning resources in mathematics cannot be used for visually challenged students?

Options :

| Taylor’s abacus

5 Tangram

3. Geoboard

4 Geo-gebra

Question Number : 51 Question Id : 953357527499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o 5 FeeA A £ 7 T A S AT T T g e e At e
Options :

| TR T fanT
2. EEpIE}
3' F\J - - [l

~

4,

Question Number : 52 Question Id : 953357527500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of teaching arithmetic using heuristics method according to WNational Curriculum
Framework (2005)?

Options :

L Finding the sum of three or more digit numbers by column method of addition

, Rounding off numbers to the nearest multiples of ten in order to add, subtract or multiply etc.



3 Teaching the use of electronic calculator to students

4 Making students memorize multiplication tables for multiplying large numbers

Question Number : 52 Question Id : 953357527500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T W= wAGET (2005) % FTAR, e 5 & ol wiRes® (=9 ) et F SwEnT e e
TG T U SR 27
Options :

| T AT T (FTAT) A FIT S A A TR S A F |

, TS, =& 31 0N S o (A0 Sl 1 36 o Tehead urst H qUritend Tl
. Tt #1 seragiTen Seoied F1 SaanT AT e

) Tt =t st et 1 o e = weTS A A

Question Number : 53 Question Id : 953357527501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following methods/approaches is NOT regarding mathematics teaching?
Options :

| Analysis-Synthesis

> Rote Memorization

3 Problem solving

4. Deductive-Inductive

Question Number : 53 Question Id : 953357527501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Frere £ 7 e S T e S F R A A e

Options :
T — s
, T ITE HAT (20E)

3 I

4, TR AT



Question Number : 54 Question Id : 953357527502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the best description of ideas of value based mathematics education?
Options :
1. Mathematics education cannot be value free

> Mathematics education is the most valuable

3.
Value based mathematics education acknowledges and incorporates social, cultural and political values in teaching
learning processes

4 In mathematics examination, asking a value based question in the end develops moral values in students

Question Number : 54 Question Id : 953357527502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrATerfas o & -1 o= T AT T {oTe 1 Haw ST v 22

Options :

| Tiore st fere e T e 2 e

) TTiuTe e T g 2

3

T T T AT AT

) T o AT H S F U AT AT W T S & DA H A{sh FodT 6w w2

Question Number : 55 Question Id : 953357527503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sequence is correct for mathematical modelling?
Options :
| The mathematical model -- Real life problem -- The mathematical solution -- The solution in real world

, Real life problem -- The mathematical model -- The mathematical solution -- The solution in real world
3 The mathematical model -- Real life problem -- The solution in real world -- The mathematical solution

4 The mathematical model -- Real life problem -- The mathematical solution -- The solution in real world

Question Number : 55 Question Id : 953357527503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T e (S F fow frefafes 3 & Sar me anfaa 22

Options :



nﬁmﬁﬁzﬁiﬁwm—amﬁmefmﬁm_ﬂﬁﬁuﬁ—mﬁmgﬁmﬁﬁ
, mﬁﬁeﬂmﬁrw_nﬁmﬁaﬁ_rﬁﬁaw—mﬁﬁgﬁmﬁw
Wﬁﬁ—aﬁ%ﬁﬁ?ﬁw_mgﬁmﬁw—nﬁﬁaw

) nﬁﬁaﬁzﬁ_aﬁﬁmsﬂaﬁﬁm_rﬁmaﬁ—mﬁﬁgﬁmﬁm

Question Number : 56 Question Id : 953357527504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After the completion of topic “Parallelograms™ in a mathematics class. a student says, “A square is also a rectangle and
that a rectangle is also a special type of parallelogram™. The student is at which level of geometric reasoning according
to Van Hieles theory of geometrical development?

Options :
| Level 0 (Visualization/Recognition)

, Level 1 (Analysis)

3 Level 2 (Relationships)

4 Level 4 (Axiomatics)

Question Number : 56 Question Id : 953357527504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TITOTeT 3B T ST T I W ST 3 U 8 % ae, U feraneff e 2, <o, ver o7 o # ofi o v
foreTe wrhTe =61 T = o 2

3 & o ST T o fagta & o, femdf senfafy femm = e w

Options :

| T O (TR qE=n)

, I (faemmm)

5 T2 (ST TE)

TR 4 (FES)

4

Question Number : 57 Question Id : 953357527505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following data sets cannot be represented using a pie chart?

Options :
| Arecord of change in temperature in a day



, Percentage of marks obtained by students in a class of ‘n’ number of students
5 Ratio of number of students belonging to different states in a classroom

4. Monthly expenditure of a family in various sectors

Question Number : 57 Question Id : 953357527505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

freferfiaa o & o1 | SATel %1 U2 TS =2 (I ATHE) T ST 0 TEII Bl 1T S woar 27
Options :
1 wﬁ?ﬁmﬁgr{wwﬁ‘:ﬁé

, ‘N’ DT 3T FREAT HI T FeT T ST R TTH 1 Hl Thersraa

. nmmmﬁ%ﬁwrmﬁﬁﬁéﬁmmﬁ@rﬁwmmgm

, T ufram =1 Tl &7 3 21 e 3 =

Question Number : 58 Question Id : 953357527506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following involves generalization from numbers and computation with the use of meaningful symbols?
Options :
| Geometric thinking

5 Algebraic thinking

3 Statistical thinking

4 Numerical thinking

Question Number : 58 Question Id : 953357527506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toreferfiam & & forerel wemet o1 rT=iartor &1 27euv forat % Suam & @y Tfierer we areater 2|

Options :

1. EIE;ZIE!“Z!FH?!‘
, S
, Wit a=

4 T |



Question Number : 59 Question Id : 953357527507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of proportionality?

Options :
1 4 candies cost Rs. 3, and so 10 candies cost Rs. 12.50

2.
Ravi’s mother’s age is two times that of Ravi’s age at present, so when Ravi will be 30 vears old, his mother will be 60
years old.

. : ) i 1
A car covers 8km in 3 hours at a constant speed, it will cover 12 km in 45 hours.

4.
The ratio of number of teachers to that of students in a school has to be 2:30, so for 300 students. there has to be 20
teachers.

Question Number : 59 Question Id : 953357527507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

feTerfia & S1-H1 FaTaeT 1 JaTeeo T2 27

Options :

| 4 S i A 5 T 7 SR EIT 10 FEE AT 12.50 70 2

2.
T ot AT i S A T AT W G 2, e S T 30 79 A, 9 Swh A’ i 477 60 79 #w

e R R 8 R 3 o A e B T 1 %;&.4% Famauf

3

4.
T T § TETeTeRT Sl AT S ST T ST ST 2:30 T =0 Aag@R 300 T F o 20 e wm
=tz

Question Number : 60 Question Id : 953357527508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
According to National Curriculum Framework (2005), which of the following is LEAST effective to enhance
mathematics learning in the classroom?
(a) Connecting concepts to real-life situations
(b) Giving frequent tests
(¢) Using mathematical games and puzzles
(d) Creating competition amongst learners
Choose the correct option.
Options :
1 (a)and (c)

5 (b)and (d)

3 (a), (c)and (d)



4. Only (c)

Question Number : 60 Question Id : 953357527508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T U FURET 2005 F STER, FE F N0E-ATH 1 grg 3 o ety 7 & w961 o 6
THETE 2

(a) 2TTROMT 1 AR I-S1a7 T uffeutar & srear

(b) Fia atemd &

(c) TITOTHTS @ 371 T8t 2T SU=T AT

(d) STfereRateT 3 TiawagT 1 g7 F

wE forere 1 T it

Options :

(a) T (c)

1
, (b) 3T (d)
, (@), (c) R (d)

4 FTA (c)

Question Number : 61 Question Id : 953357527509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the items given in column A with that in column B

Column A Column B
(Deficiency of vitamin/'mineral) (Deficiency disease/disorder)

A, Vitamin — A (I) Goitre

B. Vitamin— B (II)  Anaemia

C. Vitamin — C (II) Scurvy

D. Iron (IV) Loss of vision
(V) Beri— Beri
(VI) Rickets

Options :
1 A-IVB-VLC-V.D-1II

, A-IV,B-V,C-ILD-II
; A-VLB-V,C-IILD-I
4 A-IVB-LC-OLD-II

Question Number : 61 Question Id : 953357527509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



FeH A |2 T 92t 3 Fe B F 921 | fyem Fifsw —

HEAT A & B
ECILEREICED (ELIEE RN EEAL)
A. o= A [ TTreT ()
B. === B 1. AT
C. o= C 1. Thaft
D. 27T (FATET) IV, efforar, greet=aT
V. -
V1. fehgE

Options :
L. A-IVB-VLC-V, D-1II

, A-IV,B-V, C-III, D-1I
3 A-VLB-V, C-III, D-I
4 A-IV,B-1, C-II, D-1II

Question Number : 62 Question Id : 953357527510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Incomplete combustion of fuels produces a gas which is poisonous and reduces the oxygen carryving capacity of the
blood. This gas is

Options :

1. Carbon dioxide
> Carbon monoxide
5 Nitrogen oxide
4 Sulphur dioxide

Question Number : 62 Question Id : 953357527510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F STV e | I B AT T T AT 7, S e & o T i Ao aTee e 5 e 3 8

Options :
[n -
1. e SsAIES

, TTE AAISTFEES
3' '\.\‘ -

, T SEATHETES



Question Number : 63 Question Id : 953357527511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An object of mass 200 kg is sliding on a smooth horizontal frictionless surface with a constant velocity of 5my/s. The
force required to keep the object moving with the same velocity is

Options :
1. 10000 newtons

5. 1000 newtons
3. 100 newtons

4. Zero

Question Number : 63 Question Id : 953357527511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

% 200 kg FHT 1 fuve foret foer o 1w A B @ 5 my/s & Faa o 9 former 2 21 3o favs ot
AT G T S0 TG % AT SR g e —

Options :
10000 =27
1. B

1000 =429
2. £

100 =24
3. B

I
4.

Question Number : 64 Question Id : 953357527512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about a rainbow

. It appears usually after the rains

. At the time of rainbow the sun is high in the sky

. To observe a rainbow the observer’s back should be towards the sun.

. In the formation of a rainbow the water droplets in the atmosphere act as a prism.

gcnwe

The correct statements are
Options :
| A,BandC

2 A CandD



Question Number : 64 Question Id : 953357527512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

$EEY o T o i faw e o e it —
A. TE WTHTI4: T91 % ULTd ST 21 2|
B. ST % H9T 9F ATHE H =3 O BT 2
C. T 1 UE0 FE o o0, e 31 013 | 3l AT 1 =)
D. 518 3 =0 & FEa # STae Urd i ST S a0 797 3w ard o oF S vt a2
E. S5 3 10T 3§ ST i 957 92 9 1 it 1 &7 2|
Y e Y B
Options :

CA,BIRC

1

2

A, C¥RD

B,CHRD

3

A,B3RD

4

Question Number : 65 Question Id : 953357527513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the items of column I with that of column IT

Column I Column IT
A. Algae L Chlamydomonas
B. Bacteria IL Amoeba
C. Fungi III.  Omicron
D. Protozoa V.  Aspergillus

V. Lactobacillus
Options :
1. A-LB-V.C-IV.D-1II
2 A-LB-ILC-IV.D-1I
3. A—IVB-V, C~TI,D-1
4. B B=N C=HLD=1]

Question Number : 65 Question Id : 953357527513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. A-1I, B-V, C-1V, D-1II

, A-I B-IILC-IV, D-II

;, A-IV, B-V, C-III, D-I

4 A1 B<V, C-IE B-1I

Question Number : 66 Question Id : 953357527514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Suppese vou are standing in front of plane mirror fixed on the wall of a gallery. You are at a distance of 3m and your
friend is at a distance of 4 m from the mirror. What is the distance between vou and the image of your friends?

Options :
1. 8m
2. 7m
3 6m
4. 4m

Question Number : 66 Question Id : 953357527514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. 8m

2 7Tm
3 6m

4. 4m

Question Number : 67 Question Id : 953357527515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Select from the following, a planet of solar system which has highly tilted rotational axis as a result of which in its
orbital motion appears to roll on its side

Options :

1 Mercury

5 Neptune
3. Saturn
4. Uranus

Question Number : 67 Question Id : 953357527515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357527516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The speed of sound in air is 320 my/s. If the wavelength of a sound wave is 640 cm, its time period is
Options :
1. 5 second

> 2 second
3. 0.5 second
4. 0.02 second

Question Number : 68 Question Id : 953357527516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357527517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aqueous solution of which one of the following oxides will turn blue litmus solution to red
Options :

| Copper oxide

o Calcium oxide
3 Sulphur dioxide

4 Magnesium oxide

Question Number : 69 Question Id : 953357527517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357527518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the statement is false in the context of chromium planting?
Chromium is used for electroplating because

Options :
1 It has a dull appearance

o It does not corrode
3. It resists scratches

4 Itis expensive to make the whole object out of it

Question Number : 70 Question Id : 953357527518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357527519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following processes of crop cultivation in column A with the statement in column B

Column A Column B

(a) Harvesting (i) Water falls drop by drop
directly near the roots

(b) Threshing (ii) Growing different crops
alternately

(c¢) Crop rotation (iii) Cutting of crops after its
maturation

(d)Drip system (iv)  Grain seeds separated from
chaff

Options :

L (a) — (iv), (b) — (iii), (c) — (i), (d) — (ii)
5 (@)= (iid), (b) = (ii). (c) — (iv), (d) — (i)
5 (@) = (i), (b) — (iv). (¢) — (ii). (d) — (D)

4 (a) — (i), (b) = (iv), (c) — (iii), (d) —(Q)

Question Number : 71 Question Id : 953357527519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5 (a) — (i11), (b) — (i1), (c) —(iv), (d) —(1)
;. @)= (iii), (6) = (), (€)= (i), () ()

o, @ =i, ()= (i), (©) - (i), (d) ~ ()

Question Number : 72 Question Id : 953357527520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When human beings inhale oxygen during respiration, which of the following movement movements does NOT
takeplace?

Options :
| The air is drawn in through the nostrils

> Ribs move out
3 Diaphragm moves up

4 Lungs expand

Question Number : 72 Question Id : 953357527520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357527521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement about xylem.
Options :
1. It is a tissue.

o Itisapipe — like vessel.

3 It transports ford and nutrient from leaves to other ports.

4 Transpiration produces suction pull in it.



Question Number : 73 Question Id : 953357527521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357527522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You have made a pinhole camera and you obtain the image of a distance coloured building on its screen. The image
formed on the screen is always

Options :
| Real, inverted, coloured and highly diminished

, Real. erect, coloured and highly diminished
5 Real, laterally inverted, coloured and diminished

4 Virtual, erect, coloured and diminished

Question Number : 74 Question Id : 953357527522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357527523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Select from the following, a metal which reacts with dil. H,SO,4 but does not react with dil HCL even on heating.
Options :
1. Calcium



7. Iron

3 Copper

4 Magnesium

Question Number : 75 Question Id : 953357527523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357527524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements about arteries

A. Arteries are the blood vessels which carry oxygen rich blood from the heart to all parts of the body at a high
pressure

B. To ensure that the blood flows only from the heart to other body parts, the arteries have valves

C. The walls of the arteries are comparatively thin

The correct statement is/are

Options :

1 Only A

5 Only B

3. Aand B

4 AandC

Question Number : 76 Question Id : 953357527524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



et o fawa 5 = feu o syt o famm s —
A, ST F TR ATTEET & S AT Y, SR G § S aT6 U IR % W 9 S o S
B. = Q12 % 3 fo7u fop =i Sharet we & vt 3 et 9T o7 TR WAt wen €, et 3 A e 2
C. srafert i fafeat sruemra vas 26 2

TH TE FATEE —

Options :
| A

, FaAB
; A#NB
4 AFRC

Question Number : 77 Question Id : 953357527525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following characteristics of plants

A. Broad and flat leaves

B. Photosynthesis carried out by stems

C. Roots going very deep

D. Very little loss of water through transpiration
E. Cone shaped plants with sloping branches

The characteristics normally found in desert plants are
Options :
| A.B.DandE

2 B.CandD
3. A CandD

4 B.C.DandE

Question Number : 77 Question Id : 953357527525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357527526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements
A. In photosynthesis solar energy in converted into chemical energy.
B. In photosynthesis CO, and water are used.

C. In photosynthesis CO, is released and O, is consumed.
D. In photosynthesis O, is released and CO; is consumed.

E. Photosynthesis takes place both during day and night.

The correct statements are
Options :
| ABand C

2 B.CandD
3. A DandE

4 A BandD

Question Number : 78 Question Id : 953357527526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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A, DERE
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Question Number : 79 Question Id : 953357527527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements.
A. The small intestine is highly coiled and shorter than the large intestine.
B. Small intestine receives secretions from the liver and the pancreas.
C. Liver is the largest gland in the body which secretes bile juice.
D. The pancreatic juice acts on fats and change them into simpler forms

The correct statements are
Options :

1. Aand B

> BandC

3 Dand A

A, BandC

b

Question Number : 79 Question Id : 953357527527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357527528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Match the items of column I with that of column IT

Column I Column II
A. Penicillin L Robert Kotch
B. Small pox vaccine 1L Gregor Mendel
C. Fermentation III.  Louis Pasteur
D. Bacillus Anthracis IV.  Alexander Fleming

V. Edward Jenner
Options :
1. A-TV,B-V.C-TII,D -1
2 A-IVB-V.C-II.D-1I
3 A-IV,B-II,C-1II,D-1I
4 A-V.B-IV.C-1.D-III

Question Number : 80 Question Id : 953357527528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357527529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statement (s) is/are individually true in respect of both magnetic lines of force and rays of light?

A. They are theoretical constructs.

B. They are visual representations that help in understanding physical phenomena.
Options :
| OnlyA

» A&B



3. Only B

4. Neither Anor B

Question Number : 81 Question Id : 953357527529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Freferiias & & SH-A1/E FUF T T ae @t ST TR T R 3 T T STERT. ST A O e A
A. T S HEET
B. I 3¢ Feuur & St fifeer uftarzaett =1 99e ¥ 998 4 7

Options :
| FEAA

, ATB
; FEAB
4, TATB

Question Number : 82 Question Id : 953357527530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following best explains the concept of cognitive validity of a science curriculum
Options :
1. Focus on hands — on activities in curriculum

, Age —appropriateness of curricular materials

3, Focus on continuous assessment

4 Respect for constitutional value in curriculum

Question Number : 82 Question Id : 953357527530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357527531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following should be the hall-marks of a science curriculum at upper primary stage as per NCF — 2005.
Options :

| Science should be infroduced as separate disciplines like physics, chemistry and biology.

5 Science content should be regarded as a diluted version of a secondary stage science.

3 There should be a strict separation between academic and vocational streams.

4 Scientific concepts should be arrived at mainly from activities and experiments.

Question Number : 83 Question Id : 953357527531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357527532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following strategies will NOT be helpful in bridging the rural — urban divide in Science Education?

Options :
| Reflecting rural life — styles in curriculum

, Dealing with issues like *food" in the context of an agrarian economy.

3 Organising science camps and exhibitions at cluster and block level.

4 Basing rural school curriculum on relatively simpler concepts.

Question Number : 84 Question Id : 953357527532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357527533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher along with her class VII students is trving to understand how plants grow. They planted a number of tomato
seeds at various depths and at various places in their school garden and took care of them. After some time, they
observed that a few seeds began to develop as plants while others died out. The teacher asked the students to use their
observations and think of the factors to due to which some seeds could not develop. Which process skill is likely to be
developed through this exercise?

Options :
| Hypothesising

, Predicting

3 Classifying

4 Measuring

Question Number : 85 Question Id : 953357527533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357527534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Read the following paragraph

In 1822, a man named Alexis St. Martin was badly hit by a shot — gun. The bullet had seriously damaged the chest wall
and made a hole in his stomach. He was brought to an American army doctor William Beaumont who saved the patient
but could not close the hole properly and left it bandaged. He used this as opportunity to see the inside of the stomach to
some gain an understanding about the process of digestion?

Which of the following understanding (s) about development of scientific knowledge is conveyed in this paragraph

A. Science proceeds systematically according to pre-determined steps
B. Science requires careful observation and creative response to situations

Options :

| OnlyA

, OnlyB

;3 A&B

4. Neither Anor B

Question Number : 86 Question Id : 953357527534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357527535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a desirable practice in the context of teaching & learning of science?
Options :

| Examples and insights from other subjects are liberally used wherever required.

, Focus should be on getting the right answers from students and not on their incorrect responses.



5 Free —play and open — investigations should be given due importance.

4. Local context should be used for enhancing conceptual clarity.

Question Number : 87 Question Id : 953357527535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357527536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher gives the example of flow of water from high pressure in a water tank to low pressure to explain the concept
of potential difference to her students. Which pedagogic device is she using?

Options :
1 argumenta tion

, Aanalogy

3 real artefact
4. Open—ended questioning

Question Number : 88 Question Id : 953357527536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357527537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is trying to introduce her class VII students to different kinds of soil. She begins by introducing the names of
three kinds of soil i.e. sandy soils, clayey soil and loamy soil. She explains the properties of each soil in term of its
particulate nature. She then demonstrates one sample of each kind of soil and shows the students the difference in
percolation rate of an examples. How would you evaluate this approach from an inquiry oriented perspective?

Options :
| It is an effective approach that encourage inquiry.

, Demonstrating more soil samples would make the approach inquiry — oriented.
3 It is not an effective approach for encouraging inquiry.

4 Asking questions in the end would make the approach inquiry — oriented.

Question Number : 89 Question Id : 953357527537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357527538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘A burning candle gets put out after some time of being covered with a glass jar.” Which of the following inference can
be drawn from the above observation?
A. Alr is required for the burning of candle.
B. Oxygen is required for the burning of candles.
Options :
L Only A

5 Only B

3 BothA&B

4. Neither Anor B



Question Number : 90 Question Id : 953357527538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Read the passage given below and answer the questions / complete the statements that follow by
choosing the most appropriate options out of the given ones.

1. The term ‘multitasking’ originated as computer jargon for the situations when the central
processing unit switches back and forth between different programs. While the human
capacity for simultaneously handling multiple tasks has been discussed and studied for
centuries, the book is far from closed on how well we can or can't do it

2. Letus look at a fairly common workplace scenario: writing an email to one colleague, while
talking on the phone to another. As you are talking, you have temporarily put the skills needed
to type (spelling, grammar, manipulating your fingers across the keyboard) on hold. When you
turn your attention back to the computer, you then suspend the etiquette of conversation (which
may leave your co-worker to ask, “Are you still there?”). So we are not really doing these things
simultaneously. “It looks like multitasking is not taking place. We do one task, then we do
another,” says Pierre Jolicoeur, the research Chairperson in Experimental Cognitive Science
at the University of Montreal, Canada, who studies how the human brain handles multiple tasks.
“Task switching” is probably a more accurate description, and though the switch may occurin a
fraction of second, there is an associated task-switch cost, the amount of time lost with each
switch.

3.“As we try to do more and more things in less and less time,” often error creeps in, we call that a
speed accuracy trade-off”, says Jolicoeur.

Sub questions

Question Number : 91 Question Id : 953357527540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term ‘multitasking’ means:

1. a skill to do a number of different tasks
simultaneously.
2. a skill investing money in different profitable
shares.
3. ajob in which you are posted at different
stations.
4. difficulty faced by an individual in moving from
one task to another simultaneously.
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357527541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘the book is far from closed’ implies:

1. the debate is over

2. the debate is meaning less

3. the discussion is still ongoing

4. the results of the discussion is still pending
Options :
1.1
2.2



3.3
4.4

Question Number : 93 Question Id : 953357527542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your co-worker is forced to ask, “Are you still there?”
because of:

1. networking issue
2. multi-tasking issue
3. lack of etiguette
4. lack of interest
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357527543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What, according to Pierre Jolicoeur, is ‘multitasking’?

1. doing many different tasks within a very short
span of time.
2. accomplishing many different tasks within a very
short span of time.
3. many people working on a particular task
simultaneously.
4. doing one task and then another almost
immediately.
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357527544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the following statements. Errors creep in when
a) we do more things in less time because the
information which goes to our brain gets all
mixed up.
b) the information which goes to our brain queues
up to be processed within the fraction of a
second.

(a) is true and (b) false
(a) is false and (b) true
both (a) and (b) are true
both (a) and (b) are false
Options :

1.1

2.2

3.3

4.4

P . I



Question Number : 96 Question Id : 953357527545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In ‘cognitive science’ the word cognitive is used as a /
an

. adjective
. adverb

. houn

. verb
Options :

1.1

2.2

3.3

4.4

SO =

Question Number : 97 Question Id : 953357527546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Switch cost’ in para 2 means

1. time loss in each switch over process.
2. time gained in each switch over process.
3. calculation of cost of each switch.
4. process of multitasking.
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357527547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word ‘jargon’ in para 1 means:

. magic

. mystery

. idiom

. explanation
Options :

1.1

2.2

3.3

4.4

P IR =

Question Number : 99 Question Id : 953357527548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘put on hold' in para 2 implies

1. turn your attention
2. suspend
3. handle
4. manipulate
Options :
1.1
2.2



3.3
4.4

Question Id : 953357527539 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions / complete the statements that follow by
choosing the most appropriate options out of the given ones.

1. The term ‘multitasking’ originated as computer jargon for the situations when the central
processing unit switches back and forth between different programs. While the human
capacity for simultaneously handling multiple tasks has been discussed and studied for
centuries, the book is far from closed on how well we can or can't do it

2. Letus look at a fairly common workplace scenario: writing an email to one colleague, while
talking on the phone to another. As you are talking, you have temporarily put the skills needed
to type (spelling, grammar, manipulating your fingers across the keyboard) on hold. When you
turn your attention back to the computer, you then suspend the etiquette of conversation (which
may leave your co-worker to ask, “Are you still there?”). So we are not really doing these things
simultaneously. “It looks like multitasking is not taking place. We do one task, then we do
another,” says Pierre Jolicoeur, the research Chairperson in Experimental Cognitive Science
at the University of Montreal, Canada, who studies how the human brain handles multiple tasks.
“Task switching” is probably a more accurate description, and though the switch may occurin a
fraction of second, there is an associated task-switch cost, the amount of time lost with each
switch.

3.“As we try to do more and more things in less and less time,” often error creeps in, we call that a
speed accuracy trade-off”, says Jolicoeur.

Sub questions

Question Number : 91 Question Id : 953357527540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The term ‘multitasking’ means:

1. a skill to do a number of different tasks
simultaneously.
2. a skill investing money in different profitable
shares.
3. a job in which you are posted at different
stations.
4. difficulty faced by an individual in moving from
one task to another simultaneously.
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357527541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘the book is far from closed’ implies:

1. the debate is over
2. the debate is meaning less
3. the discussion is still ongoing
4. the results of the discussion is still pending
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357527542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your co-worker is forced to ask, “Are you still there?”
because of:

1. networking issue
2. multi-tasking issue
3. lack of etiguette
4. lack of interest
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357527543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What, according to Pierre Jolicoeur, is ‘multitasking’?

1. doing many different tasks within a very short
span of time.
2. accomplishing many different tasks within a very
short span of time.
3. many people working on a particular task
simultaneously.
4. doing one task and then anocther almost
immediately.
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357527544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Read the following statements. Errors creep in when
a) we do more things in less time because the
information which goes to our brain gets all
mixed up.
b) the information which goes to our brain queues
up to be processed within the fraction of a
second.

(a) is true and (b) false
(a) is false and (b) true
both (a) and (b) are true
both (a) and (b) are false
Options :

1.1

2.2

3.3

4.4

P I

Question Number : 96 Question Id : 953357527545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In ‘cognitive science’ the word cognitive is used as a /

an
1. adjective
2. adverb
3. noun
4. verb

Options :

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 953357527546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Switch cost’ in para 2 means

1. time loss in each switch over process.
2. time gained in each switch over process.
3. calculation of cost of each switch.
4. process of multitasking.
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357527547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The word ‘jargon’ in para 1 means:

. magic

. mystery

. idiom

. explanation

P OB =



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357527548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘put on hold’ in para 2 implies

1. turn your attention
2. suspend
3. handle
4. manipulate
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335729919
Question Shuffling Allowed : Yes

Question Id : 953357527549 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the extract given below and answer the questions / complete
the statements that follow by choosing the mist appropriate
options out of the given ones.

Baraj says with hands clasped, Master our days are gone—
New men have come now, new styles and customs in
the world.
Don't ask anyone to listen to me now, | beg you
at your feet, my lord.
The singer alone does not make a song, there has to be
someone who hears:
One man opens his throat to sing, the other sings in
his mind
Only when waves fall in the shore, do they make
a harmonious sound.
Only when breezes shake the woods do we hear
a rustling in the leaves.
Only from a marriage of two forces does music
arise in the world.
Sub questions

Question Number : 100 Question Id : 953357527550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Who is Baraj?

. asinger

. a courtier

. a court singer
. @ minister
Options :

1.1

2.2

3.3

4.4

F M-

Question Number : 101 Question Id : 953357527551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Our days are gone'. The speaker means to say that:

1. he has become old.
2. new people have come.
3. his listener have become old.
4. there are new fashions in singing now.
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357527552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements :
(a)In olden day Baraj had many admires.
(b) Now people have developed new tastes
(c)A singer sings and listeners only listen.

(a) is right and (b) is wrong.
(b) is right and (c) is wrong.
(c) is right and (a) is wrong.
Both (a) and (b) are wrong.
Options :

1.1

2.2

3.3

4.4

1
2.
2
4.

Question Number : 103 Question Id : 953357527553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

a) breezes i) shore
b) waves i) listeners
c) singer iil) woods
1. (@) = (i); (b) — (ii); (c) — (iii)
2. (a) = (ii); (b) = (iii); (c) = (i)
3. (a) — (iii); (b) = (ii); (c) — (i)
4. (a) — (iii); (b) — (i); (c) - (ii)



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357527554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘from a marriage of two forces’
The figure of speech use here is:

1. Simile
2. Metaphor
3. Personification
4. Symbol
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357527555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a)A king can persuade his courtiers to enjoy a
song
(b) Cordial relationship must exist between a singer
and his listeners.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong

3. Both (a) and (b) are right
4. Both (a) and (b) are wrong
Options :
1.1
2.2
3.3
4.4

Question Id : 953357527549 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension



Read the extract given below and answer the questions / complete
the statements that follow by choosing the mist appropriate
options out of the given ones.

Baraj says with hands clasped, Master our days are gone—
New men have come now, new styles and customs in
the world.
Don't ask anyone to listen to me now, | beg you
at your feet, my lord.
The singer alone does not make a song, there has to be
someone who hears:
One man opens his throat to sing, the other sings in
his mind
Only when waves fall in the shore, do they make
a harmanious sound.
Only when breezes shake the woods do we hear
a rustling in the leaves.
Only from a marriage of two forces does music
arise in the world.
Sub questions

Question Number : 100 Question Id : 953357527550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who is Baraj?

1. a singer
2. a courtier
3. a court singer
4. a minister
Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357527551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Our days are gone’. The speaker means to say that:

1. he has become old.
2. new people have come.
3. his listener have become old.
4. there are new fashions in singing now.
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357527552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements :
(a)In olden day Baraj had many admires.
(b) Now people have developed new tastes
(c)A singer sings and listeners only listen.

(a) is right and (b) is wrong.
(b) is right and (c) is wrong.
(c) is right and (a) is wrong.
Both (a) and (b) are wrong.
Options :

1.1

2.2

3.3

4.4

1.
2.
4.

Question Number : 103 Question Id : 953357527553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Match the following:

a) breezes i) shore
b) waves ii) listeners
c) singer iii) woods
1. (@) — (i); (b) — (ii); (c) — (iii)
2. (a) - (ii): (b) - iii); (c) — (i)
3. (a) — (iii); (b) — (ii); (c) — (i)
4. (a) — (iii); (b) — (i); (c) — (ii)

Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 953357527554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘from a marriage of two forces’
The figure of speech use here is:

1. Simile
2. Metaphor
3. Personification
4. Symbol
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357527555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a)A king can persuade his courtiers to enjoy a
song
(b) Cordial relationship must exist between a singer
and his listeners.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right
4. Both (a) and (b) are wrong
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335729920
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357527556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Productive vocabulary are
1. words which we use when we listen to them and read them.

words which we use when we listen to others.

words which we use when we read a text.

words which we use when we speak or write.

w1

i

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357527556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Productive vocabulary are
1. words which we use when we listen to them and read them.

words which we use when we listen to others.

words which we use when we read a text.

words which we use when we speak or write.

w1

o

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357527557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is India’s language-in-school education policy known as?
1. Official language policy
Multilingual education
Mother tongue based multilingual education
Three language formula

w1

.

Options :
1.1



2.2
3.3
4.4

Question Number : 107 Question Id : 953357527557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is India’s language-in-school education policy known as?
1. Official language policy

. Multilingual education

Mother tongue based multilingual education

Three language formula

Wb

i

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357527558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Drilling as a strategy for internalizing the pattern is advocated by

Communicating Language Teaching
Audiolingualism
Total Physical Response

w9 =

4. Constructivist language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357527558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Drilling as a strategy for internalizing the pattern is advocated by

Communicating Language Teaching
Audiolingualism

Total Physical Response
Constructivist language teaching

w9 =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357527559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Scaffolding hypothesis® believes
1. that social interaction provides the substantive means by which learning occurs.

. in teaching the same skill many times through various mean.

. that learning vocabulary is essential for language learning.

that interaction leads to developing grammatical competence and language learning.

2
3

i

Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 953357527559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘Scaffolding hypothesis® believes
1. that social interaction provides the substantive means by which learning occurs.
2. inteaching the same skill many times through various mean.
3. that learning vocabulary is essential for language learning.

i

that interaction leads to developing grammatical competence and language learning.
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357527560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher collects all the common errors made by learners in their speech and writing. Later she discusses in her class
all the error without mentioning who committed the error.
What does she do?
1. Remedial teaching
2. Post assessment activity
3. Error analysis
Feedback
Options :
1.1
2.2
3.3
4.4

il

Question Number : 110 Question Id : 953357527560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher collects all the common errors made by learners in their speech and writing, Later she discusses in her class
all the error without mentioning who committed the error.
What does she do?

1. Remedial teaching

2. Post assessment activity
3. Error analysis

B

Feedback
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357527561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘The activities where the target language is used by the learner for a (communicative) purpose in order to achieve an
outcome.’ These activities in teaching-learning langunage are known as
1. Pair work
2. Group work
3. Tasks
Exercise
Options :
1.1
2.2
3.3
4.4

&

Question Number : 111 Question Id : 953357527561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘The activities where the target language is used by the learner for a (communicative) purpose in order to achieve an
outcome.’ These activities in teaching-learning langnage are known as
1. Pair work
2. Group work
3. Tasks
Exercise
Options :
1.1
2.2
3.3
4.4

&

Question Number : 112 Question Id : 953357527562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher makes groups of four learners and asks them to read and make a summary of the text/story. When students are
working in groups she is helping them as and when required by the groups, later she asks the groups to present it to the
whole class. What could this be described as?

1. Group work

2. Scaffolding
3. Whole classroom discussion in groups.
4. Communicative language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357527562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher makes groups of four learners and asks them to read and make a summary of the text/story. When students are
working in groups she is helping them as and when required by the groups, later she asks the groups to present it to the
whole class. What could this be described as?

1. Group work
Scaffolding

Whole classroom discussion in groups.

oo

Communicative language teaching
Options :



1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357527563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Inferring meaning’ is

1. to deduce meaning based on evidence and reasoning.

[§%]

to understand what is being implied and understood.

3. to find out the meanings of words.
4. to write a summary of the text.
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357527563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Inferring meaning’ is

to deduce meaning based on evidence and reasoning.

(=]

to understand what is being implied and understood.

3. to find out the meanings of words.
4. to write a summary of the text.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357527564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT advocated as a goal of developing reading among learners?
1. Drawing inferences while reading a text.

2. Relating the text with one’s previous knowledge.

3. Mere decoding of the text.
4. Make meaning of words, language chunks.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357527564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following is NOT advocated as a goal of developing reading among learners?

1. Drawing inferences while reading a text.

ta

Relating the text with one’s previous knowledge.

3. Mere decoding of the text.
4. Make meaning of words, language chunks.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357527565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meena is able to recognize the word ‘envisage’ in a text or when it is spoken, but is not able to use it on her own. What
would vou call this vocabulary?
1. Active vocabulary

2. Passive vocabulary
3. Difficult word

4. New word
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357527565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meena is able to recognize the word ‘envisage’ in a text or when it is spoken, but is not able to use it on her own. What
would vou call this vocabulary?
1. Active vocabulary

2. Passive vocabulary
3. Difficult word

4, New word
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357527566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A teacher organizes the following activity every day.

Divides the class into groups of five and gives some day-to-day functions / themes for conversation in the groups and
later she picks up one from each group and asks the group to converse as a whole class activity. What is she attempting
to promote?

1. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency (CALP)
3. Discourse competency
4. Group Discussion
Options :
1.1
2.2

3.3
4.4

Question Number : 116 Question Id : 953357527566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher organizes the following activity every day.

Divides the class into groups of five and gives some day-to-day functions / themes for conversation in the groups and
later she picks up one from each group and asks the group to converse as a whole class activity. What is she attempting
to promote?

1. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency (CALP)
3. Discourse competency
4., Group Discussion
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 953357527567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessments designed to monitor and improve students’ progress during the teaching-learning process.

1. Assessment of learners
2. Assessment for learning
3. Assessment of learning
4, Assessment as learning

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 953357527567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Assessments designed to monitor and improve students’ progress during the teaching-learning process.

1. Assessment of learners
2. Assessment for learning
3. Assessment of learning
4. Assessment as learning

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 953357527568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recommends the study of classical languages as
1. alanguage within the three language formula
2. asacompulsory language
3. an additional option

4, asasecond language
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357527568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recommends the study of classical languages as
1. alanguage within the three language formula
2. as a compulsory language
3. an additional option

4. as asecond language
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357527569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many languages are listed in gth schedule of the Indian Constitution?
1. 22 languages
2 18 languages
3. 26languages
a

1,179 languages
Options :
1.1
2.2



3.3
4.4

Question Number : 119 Question Id : 953357527569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many languages are listed in 8th schedule of the Indian Constitution?
1. 22 languages
2. 18 languages
3. 26languages

4. 1,179 languages
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357527570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is productive vocabulary?
1. Words that we use in writing and speaking.

2. Words which we recognize when someone speaks.
3. Words which we notice while reading.

4. Words which we do not understand.
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357527570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is productive vocabulary?
1. Words that we use in writing and speaking.

2. Words which we recognize when someone speaks.
3. Words which we notice while reading.

4. Words which we do not understand.

Options :
1.1
2.2
3.3
4.4
Language 11
Section Id : 95335716291
Section Number : 4
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335729921
Question Shuffling Allowed : Yes

Question Id : 953357527571 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension

T 1=t Tom T Tt At U IO 0 F4T % Hed SIS AT
TS Sfte 7 2 AT i e e 2 T8t 9% I ¢ S geet B
HEE A T T T &1 Tl 2| Tt Sk e 9 #d gy
TETE AT 99 F AT 2| 279 T F w61 I fume faemeff off et
W o T GEH F FET Hl oo FAT g1 9 €| IE
1 37 T ° AT-AT A% B (6 0 Heals Tae 0 AT &
T 3 fea ot R 3 e 7 o T, uftam T o a9 | AT
%|ﬁ%ﬂmﬁ3%m§q%m%m%%vmmtaﬁiﬁﬁ
T W S AT S T W U e @ I
o e TE T FETE [0 T S S STHH TS S| T qraLTT
SIS R (T S a5 W F T Y SRES SATR F w5
foreame 7o) uftem saf #1 3= F wat= fraw ae Uden @t 2|
af&am = ST wﬁ-ﬁ%mﬁ%%ﬁaﬁ??ﬁﬁmwﬁmﬁ
TS J U R § 11 qe 5|

Sub questions

Question Number : 121 Question Id : 953357527572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTEITST 3 TR AE Siad § e qe o1 22
1. oftes
. HIg
3. SRR &
.
4. | wfem
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 122 Question Id : 953357527573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



et st e 1 7 30 9393 A7 79 o
& 7 T AT 20

1. weft f = w2

2. =T TR UR S AT 2

3. T ST OTH F AT 2

4. T LT TH F 41 2
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357527574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTE" 3 ISTET0T 3 HTS9H | 4T THAT 31 T4 o
T E?

. 5 =T uftym § vE T Ea B

3, A u o e re wea B

. T % U faem o o w2

Options :
1.1
2.2
3.3
4.4

—

(]

=

Question Number : 124 Question Id : 953357527575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FET 1 5 A HEElE T T
|. SEE 99 G o =T a7
2. IE SRS STEE B STAT 97
3. 7% foreft i ot 72 g o

4. TE T A H T AT
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357527576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TETTS ATHH J10F 41 T
|. 38 = ST OTA1- 0T & T (e o 9T ol
2. I ATHH I ATE AT Y A
3. T T UTHT W 31 Hee T4 B ITET o)
4. I T G U e fo o



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357527577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T o ST WAl WiTe wHd #| H @it e
|. =99 & aT|
2. LA A AT
3. TR W@ I

4. w1 o =)
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357527578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT TTH | 7 AT 2
1. TS ufeer |
. T uftem )
. STETET U AT

4. 27 ufters |
Options :
1.1
2.2
3.3
4.4

]

T

Question Number : 128 Question Id : 953357527579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Zror =1 ey vre T 2
|, aTer
2. EAE
3. FIEEAT
4, FHSTET

Options :
1.1
2.2
3.3
4.4

Question Id : 953357527571 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)



Question Label : Comprehension

T2 1= Tow, 70, Tt it UEE U T w4l % wE I I AT
T =t T

TS Sfte F 21 T farwi e e 2| T8 9% I ¢ S geet 3
HEE F T3 I T S TRl 2| T SAh Sad FH Fd 50
TS T 77 AT 2| AT U 3 e W fuwe et off s
T T o T HEH F FE il e HAT GadT 9T | TES
T 37 T 7 AT-AT TR B T W HEE WS AT A E
o 4 faa ot R 3 e 7 o we, wherm T 3 a9 | AT
2| AR T8 = 378 T %0, % UTH (92T 3 o0 ST o] 21 %0, i
T W FRA AT S T H 0 e e 5% s
e T T T AE [10 5T AR T AT AN M) I G
S UtA | SEe S O S T SR e ST w
foreame 70| wfterm =afes =1 9= 3 wat== e e wien o 2
TR = U 1 HE § 1 qe e

Sub questions

Question Number : 121 Question Id : 953357527572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTEITST 3 A6 A1a e 5 o qew 11w 27
1. ofes
IR
3. SRR &
.
4. WTEITSF gaEr
Options :
1.1
2.2

3.3
4.4

| ]

Question Number : 122 Question Id : 953357527573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T T A 2
1. el i o o e 2
2. =T T UR AT B
3. 2 ST UTH AT 2

4. DI =T TTH T AT 2
Options :
1.1
2.2
3.3
4.4



Question Number : 123 Question Id : 953357527574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTETT" 3 ISTET0T 3 HTSTH § T THA T
T 27

. gty e 7t & =fem

. 5 o7 e & T 5 T B

3. T o off e U w2

4. % 3 U faum T o = 2

Options :
1.1
2.2
3.3
4.4

[am—

| ]

Question Number : 124 Question Id : 953357527575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T TE A HEGg, T T
|. S O7 e § SET 9
2. 98 IR-6F ST 2 ST 47
3. aﬁ%&ﬁ%‘rﬁqﬁwm!
4. FEFHE FH E TEET o1

Options :

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 953357527576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS SATHH F19F 41 707
|. 39 = ST ATA1-1UaT & FZhE e 1 9 7]
2. IH HATHH HT AE AT ET A
3. T2 T OIS A 1 gE 19 =1 I O
4. TW ATHT AT T AE FAT T 2

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357527577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TR T AR WA -HId T9Id 2| § Wi T8
1. 37e9gT & O]
2. TSI FA aT)
3. IR @ I
4. =7eTT o I
Options :
1.1
2.2

3.3
4.4

Question Number : 127 Question Id : 953357527578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FTETA T T AT 20

. SRS Treem |
2. e ufters |
. STHETET UfHE AT
4,4
. 4T Ui F
Options :
1.1
2.2

3.3
4.4

S 'Y

Question Number : 128 Question Id : 953357527579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T =T Ty vTeE T Y
1. a7

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335729922
Question Shuffling Allowed : Yes

Question Id : 953357527580 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



Treer. 1= Tom, 10, T it UEE U9 T H4T % HE ST I A
T T OIS TS I F 92 6 ¢ S 95 F1 5 ¢ Al I S H, S
7T =R 2 A HIE AT AT AT-TNGR F| 3 B T S 0 0F
o =9 W © UEe TS - U, TN, FROT HR SEE o AT
waﬁmwa@@rﬁaﬁﬁﬁtm%ﬁmm%l a:mfr'ﬁ
Wwwwﬁewmm%,waﬁt%mmw
o = B I I AT B T e, w e A A A e
mwmaﬁ%mmmaﬁwﬁmwmm%mﬂ
ﬁ%mﬁmwwmaﬂ%ﬁaﬁﬁﬁaw—rﬁm
m%rﬁma%:%%wmawawﬁmﬂ%w
FAAT 2

Sub questions

Question Number : 129 Question Id : 953357527581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T % TR F -9 FU e 22

. = Tt oft TR T T S

. T B TR £ TR S % W
3. T I F O w48 A 2
4. Tt g9 g=amE § fag wE B

Options :

1.1

2.2

3.3
4.4

—

(]

Question Number : 130 Question Id : 953357527582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

foreeTfie & o= T =6 7o e 2
1. 99

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357527583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TTETT 3 STHE o 3 Hae § 9 Fe 27
I UF T g e E 4B
. g ot o S A B
3. uft 9 wT=TEal o g==reat § e T E
4. =t ot o A5G- g e S 2
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 132 Question Id : 953357527584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U T F Y@L W Tt S TTTes ' A
T ) A —

. T ST AT 2

. I UNER o 5 T & )

3. T HaEEe 97 B

ot ~¢ -, .
4. {f-faen waa I RS 2

[am—

| ]

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357527585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
STEHR F = T T 7 22
|. THEF W EA
2. =HEH T S
3. THS FT T
4. THE TE HAT
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 953357527586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

'rrzi"ﬂr'.::‘ld <leg EHW‘J %—

—

-2

T

4.
Options :
1.1



2.2
3.3
4.4

Question Number : 135 Question Id : 953357527587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. =t 9T =t g9 9T

Tt o1 o fa-Fasi = a7
3. w1 o1 | STETEE wY ¥ a8 e
4. Tt e St 27eRwOT e =

Options :

1.1

2.2

3.3
4.4

(]

Question Id : 953357527580 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

T 1= Tom T TS At UE U9 T w47 % HE I I A
T T OIS TS I F 9¢ T ¢ S 95 F1 5 ¢ Al I S H, S
mmaﬂ?mmmaﬁtwwﬁwmiﬁmqmwm%
T = & et we - oW, =@, Wﬁ'{‘ﬂ?ﬁ“ﬁﬁ‘ﬂi‘ml
%-@%H@Tg,@ﬁ%a%aﬁwmﬁamwngmﬁl T T
FEAT TITAT Fl AR FHT 89 S, i, T SR e % Ewn
T = B I AT B T e, e e A e e
mwmmﬁ%mmmaﬁrm‘mwmm%{mﬂ
ﬁ%mﬁwwwmaﬁ%ﬁaﬁﬁﬁaw—rﬁm
m%rﬁma%:%%WW?tmawﬁmﬂ%w
FAAT 2

Sub questions

Question Number : 129 Question Id : 953357527581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T o SR -9 FU HET 27
. = ot ot S O T |
. I B W U B TR S0 % 9 o
3. T TH F °H B AT A B
4. aft g w=arg o faam wee 2
Options :
1.1
2.2

3.3
4.4

—

(&



Question Number : 130 Question Id : 953357527582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TeTteas = 199 SeaT 1 07 T8 27
1. a9

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357527583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR 3 STEW O 3 W H 541 90 27
. T O T OH H A T
3. ot o wr=mTEaT SR w==rEat ° o = E
4. T 991 7 AfF-F=T=1 1 9= ST A
Options :
1.1
2.2

3.3
4.4

—t

[§]

Question Number : 132 Question Id : 953357527584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T @5 ¥ i o wafas e A
o ) A —

. T S A T

. B9 I3 ORER & R A 59 7

3. T HeEEIe A £

4. if-framsit o€ =e AT o 2

Options :
1.1
2.2
3.3
4.4

—

(]

Question Number : 133 Question Id : 953357527585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



STEFR H = A T 7 22
|. THE T W EAT
5.4 ‘aﬁts'ﬁ:gam
3. THE H T S
4. THE T =T
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 953357527586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TR T TSI E
1=
2.
3.

4.
Options :
1.1
2.2
3.3
4.4

APy A

Question Number : 135 Question Id : 953357527587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. TVt <5 =Rt SH =T

. =T a9 = - = ues =0
3. W1 €T F AT w9 § g% @
4. Tt 9T T srETer e =

Options :

1.1

2.2

3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 95335729923

Question Shuffling Allowed : Yes

| ]

Question Number : 136 Question Id : 953357527588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Terereret forean & wgTTosRaT 7 o1 74T 22
1. 2 9THTeT T oL
2. Tarsqur-sAtenTs F fareqmeiat =ht WTaTSAT W SUHIT AT
3. o =it 7 wmer
4. Taamerg o feremiert =1 T+T 9T gemT




Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357527588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Teramrert forer & <amaTiysar =7 31 T 22
1. =% WTETT T AR
2. Torsqur-stferme o fSreqrfefa ST WTSTRA T SO T
3, fareqr fife o woT
4. Tamme o foremterat =1 @t wTTe gemT
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 953357527589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ffefas o & fora= it vferr somms o wfyer = &1 ve=m -
1. (i) =T ST (i) T9H T oG (iii) e gt
. (i) Tor=m vt = (i) ST T (i) T S
(iv) 27T T forger
3. (i) TUET ST (i) T ST (i) HOTET
(iv) TF: TTT ST (v) Hfw o
(i) AT AT (i) T S (i) T TS AT
(iv) HTE =TT (v) @AfaT =g fomgan
Options :
1.1
2.2
3.3
4.4

| ]

=Y

Question Number : 137 Question Id : 953357527589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fr=aferfiaa o & foras o iama surms 5 sy =T 1 ue=e Fi-
1. (i) TUEET ST (i) TUH UG g (1ii) 2ifae o fom,

. (i) To=IR Uz T (i) FUTEA AT (i) TS T

(iv) 27T Ty forger

3. (i) BUET ST (i) Y &9 (i) HUET T

(1v) I AT =T (v) 3ifae =@

. (i) AT AT (i) T S (i) T TS ST

(iv) HUTes =TT (v) @Afaq =g feran

Options :

| ]

=S



1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357527590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. Toremeff =it Sweft AT T T AT W 9T S YUt Hifien v e w3 ST &
. Tereneff 3 SreTERAT T o SATA AiEe VA e T i S
3. forammeft o SrerTeaT T § 19 F T % Sig U fofEe ¥ 3 ot

(]

4. Taremeff o SIS T % SATAT WIHT T ST (T
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357527590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. Toremeff =ht Sweft AT T o AT & Ui St Tt Sifige e et e 3 ot 3
. Toreeff 3 ST Fo o STER Wi vd feiga W 5 T
3. ToraTdT & SrarTeaT =R ¥ 1= % = % Oitaw vg e 9T % e

| ]

4. Taremeff = ST T F SATAT WIHT 7 STIE (T
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357527591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT 6 KT Uk T4 STeaTaet! U 3k TeT a7ek Tohe d{-d\oljtﬂﬁm ATAT B/ATET 8 &1 J1= Tiarare & o
ST ST SREAT 23T 2| STOT 1T F 39 W S S we e 82
1. fa=
2. Tameor T
3, AT S
Options :
1.1
2.2

3.3
4.4

Question Number : 139 Question Id : 953357527591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



FT 6 1 T 1T TIearaelt ugT 3 fo ot TR ot S v ST ST 2/EAeT 2 ST are wfataty % o
=TI T AT BT 2| 9T FSTeer F =6 |t 6 4 ey e 27
|. Tg=m
2. foreror sy
3. STERT ST
Options :
1.1
2.2

3.3
4.4

Question Number : 140 Question Id : 953357527592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEUTSTIeT STeRTaT & SITEE &-
1. T vTes TSt T 29 S e A U o OTe 2

. T vTe8 T5TarT T B 99 FA € 56 B9 I died I7 orEd 2
3. 3 Tes Tt w1l =9 UTET W UeH § UEel 9 2
4. I ITE% ST STUE B

Options :

1.1

2.2

3.3
4.4

| ]

Question Number : 140 Question Id : 953357527592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEUTIIIeT STeRTaET & SIIEE &-
1. 3 we% et TereT & T G 9T U T

. I 3Te8 TS U9 B9 79 5 & 5E 29 I e I forEd B
3. 3 7eg TSRt 14 =9 UTaT W Uee | UEel S 2
4. 3 ITeE ST ST |

Options :

1.1

2.2

3.3
4.4

[§]

Question Number : 141 Question Id : 953357527593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



oA 5 T Tl g W%mﬁmﬁgﬁ?ﬁ%ﬁmﬁa&ﬁﬂmﬁww%m?ﬂ
TR TEFaTeTt 3 3T 39 aie o1 Uas 1 B TR 2| 9 e w0 O S Srar 22

1. weT Aty

2. WTET &

3. TSI A

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357527593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

oA T v Tl g W%mﬁmﬁ?ﬁ?ﬁ%ﬁm@a&ﬁﬂmﬁww%m?ﬁ
uraTe TRt 3 g 39 e 1R ues 91T B 1S 21 O e w5 o Sy ser 22

|. weT Aty

2. WTET &S

3. TS AT

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357527594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tareeff o1 % T USTET ¥ SA ©| T % 39 SN H e Y F ST ST 8
|. Ir9TE TUNH
2. ufzRaT SuTE
4. TS o

Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 953357527594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Tareeff o1 % 3% TRTET ¥ SR T TEH % 39 SN 1 e wY F ST S 8
|. 3e9TE ZUmH
2. TieRaT ST

-

3. T=UR A

w3
4. ST @
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357527595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ¥ fmaor st = Tem e E -
|. TS TUT FIEAT T
2. TRIAT =@ ot e HgAT
3. WTeT At
4. SHTFOT LT ISt HRgAT

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357527595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e % fereorerferm 1 e S B -
1. 2T FUT FIEAT T
2. RIS =@ ot et HEAT
3. |TeT At
4. SHTEFIOT TUT IEETAT HRgAT

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357527596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

TS “TTHTIOTE UTSS-HIE #

1. UT3T-TE% % S@e N1 [ord 713 U d S/ AT
2. FEH = TS e wrea- ATt

3. TTeT TIEE W WU TUTAd 3 STl T8 Ug- ATt
4. Trsaneff gy wew 4 % w0 F fordt TE FEET o o
Options :
1.1
2.2



3.3
4.4

Question Number : 144 Question Id : 953357527596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE ST T #

1. UT3-T5 % S@e N1 ford! 713 UIgd S/ AT v
2. T H TS T ure- A

3. TTeT TIEE W Ui TUIE1 § STl TS Ug- ATt
4. Tarsareff g wew e & w0 7 foredlt E R ok =
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357527597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST 3 3 Teher FOISUee HI9e (BICS) Fafem & —
| o7 fommet ot ST =t o o e < e B 2
2. F=AT T HUNT % oA W FF erEvawar e
3. TR N0 % T arer i erEvaear 2et B
4. YOS WTST f3Teqor
Options :
1.1
2.2

3.3
4.4

Question Number : 145 Question Id : 953357527597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
SATITNA 7SR SISO 9 (BICS) Hafee 2 —
. ST feremi ot W e % fore 7o ot ATavaea wre
. T T EUE0T 3 oI TS T STy g Bt B
4. YUY WTaT fareqr
Options :
1.1
2.2

3.3
4.4

]

Question Number : 146 Question Id : 953357527598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



WTHT- T HaTaa & —
|, Tareqrierat f su=eT F AR |
. Fer | Tt Fr v mom EA ®
3. I TRIUT STUET AT SATHE T AT
4. Tamemeft 7wy SO =/ ATO

Options :
1.1
2.2
3.3
4.4

[

Question Number : 146 Question Id : 953357527598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

WTST-STTeTT HaTed 2 —
|. Torerfeat #1 su=fer F A= &
. e | foreqrfeat Fr avht muAmr FA ®
3. I FEIUT ST AT AR AT
4. Tamareft 7 syrar S=froTeT = AT

Options :
1.1
2.2
3.3
4.4

]

Question Number : 147 Question Id : 953357527599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Torwlt Teremnell =1 e WTgE W U W Fm WehE Herd & W 36 274 T ] N § 98 A 8| T8 R v H
ST S7aT 27

. e e & ueT

2. AT § T

3. 77T Teha

4. FATTF TR

Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 953357527599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Tereft Tereareft =t U= UTga T URd WHE FT Wohd Herd © S 3 379 T T IRAT H 968 A ©| IF e wAH
ST SATaT 27

1. e ST & ueT

2. SRR § T

3, 37T WA

4. T WA

Options :

1.1

2.2

3.3
4.4

Question Number : 148 Question Id : 953357527600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T WTNT TST4TeR TS S o W9t 3 WY e 9 i e Eaar I a e g w2/l 2|
ﬁmﬁﬁﬁw%wwﬁﬁ%@%wm&mﬁwwﬁ%%nwﬁ%@%aﬂﬁwwﬁm, Sl
T, TUT TSI o Wl 772 Teier 4T Sraisti bl U 2

Wmﬁmﬁﬂ%mwwmﬁf%‘

. TSR & T

2. ATHTTSTEF [T =T e e

3.@@@%%%

4. WTST =@ =7 faerTe

Options :

1.1

2.2

3.3
4.4

Question Number : 148 Question Id : 953357527600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T W1 F¥1eTe STt e o S o Y et <R i S Saear W e w6 a9 249 2
Toramtefat = 5@ fawa w faté foree @t orer 9w F  fom wrentees fasm i gee @un stoere, e,
T, AT TSI & WAl 271 Teeh T Sarelsii bt U 2|

wm#%mw#ﬂﬁ%‘

. FTTSTeR-TasTe 5 WTeT

2. gt TR e e

3. A g F AT

4. TST =G =7 TS
Options :

1.1
2.2

3.3
4.4

Question Number : 149 Question Id : 953357527601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



s Tovameff ifere T & w19 v va W 1 U7 U 2| TE S Wit P Sea STe0! AW Ug Ui 8 qu
STTETE T T 3T T WTE T TETEAT § FAT 2] et w5 9E eneare & |

. TRt

2. T

3. FET e
4. uftereg fraeT

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357527601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e Teremedt i wwer o Ty v e Wt i Us U #) 9% veT 9l i 9w S0 a0 U Ut # qu
FTEE T T 2T T WTE F AEHAT W FAT 2| Foreer-qfins w5 9w avear |

| TRif=T

2.

3. FET e
4. ufteregr fae

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357527602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT % TETa & 9§ =EEE F 99w 2

|. I FATHS TS0 3 WTeTT ¥ T 9 OH A B
2. WTYT S=HTeTF ST & ZRT §IE! ST 2

3. wuft fareaeff ver &t a2 @ drad 2|

4. T AU TH T SIS Fr@g 1

Options :

1.1
2.2

3.3
4.4

Question Number : 150 Question Id : 953357527602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT % fUET % =0 8 =R w7 aaw E

| 5= T e 3 oo A T T e B
2. WTT ST 1T 3 3N §iET S 2|

3. g fareqreff ves &t 7 & HrEa 2

4. F= A OF T & ASH G £

Options :

1.1

2.2

3.3
4.4



